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image7.jpeg
@ On the grid below, draw a rectangle wit
as the grey rectangle -bgt a different peri

This formula shows how the amount of pocket money Azi gets each
week depends on the number of hours she spends practising her violin.

Pocket money = 50p x number of hours of practice + £3

This week Azi got £5.50 in pocket money.

How maﬁnyr hours of practice did she do?

| T

|
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@ Circle three amounts baoi‘l:_v“v;ih‘ :

40% 0.05

Tim is 10 years old.
His sister Amy is % Tim’s age.

Tim’s mum is 4.25 times as old as Amy.
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@ Write the year MCMLXXVI as a nufhbeh

Here is a division.
368 + 8 = 46

nswer to complete the calculation below.
se a written division method

368+16=C]

you found your answer.
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@ Write 25—7 as a mixed number.

Write 2% as an improper fraction.

’ The shaded part of the shape below is a parallelogram.
4 mm

—
7 mm

al area of the whole shape?
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. Cara counted the number of differe i
I nt types of by
she saw in her garden on Saturday an)c;pSundayl.rds

The pie charts show her results.

Saturday Sunday

In total, Cara saw 12 birds on Saturday and 24 birds on Sunday.

* On which day did she see the most blackbirds?

Saturday Sunday D

Explain how you know.
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Atennis club has 10 members.

Each member pays a membership fee of £12.
The club uses some of this money to buy a T-shirt and 4 tennis balls
for each member.

2 2

20 balls cost
£19.78 1 T-shirt costs £4.99

Work out the total amount of money the club will have
left over once all the items have been bought.
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@ Here are some digit cards.

Use three of the cards to make this multiplication correct.

0-+-00

Use all of the cards to make this multiplication correct.

R -0

@ At 3 pm the temperature in Rick’s garden was 7 °C.
At 9 pm the temperature was -2 °C.

as the decrease in temperature between 3 pm and 9 pm?

-

At 11 pm the temperature was 3 °C colder than at 9 pm.

"V\_/hél'Was the temperature at 11 pm?
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This table shows th
> € numbe :
@ Who play either footbal| or ‘e;t;{sYear et 6 puelte

Football Tennis
264 000
268 500

What is the total number of pupils who play football?

How many fewer Year 6 pupils piay tennis than football?

@ The circle shown in the diagram below has a radius of 12 cm.

Not drawn
accurately

S

‘Name the part of the circle that the arrow is pointing to.

[

Whjat isiihe'diﬂmeter of this circle?

Fir
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@ Look at the shape below.

How. many right angles are there in the shape? |

beré in order from the smallest to the largest.

6.052 0.165 5.6 0.62

| ol ]

smallest largest
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. Arecipe uses 5 cubes of butter for every 2 eggs used.

How many cubes of butter should be used with 8 eggs?

Andy pays £12.30 for 6 sketch pads.

Crvir

Jo pays £10 for 2 sketch pads and a book.

7 ¥

What is the cost of the book?
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Here is a sketch of a triangle. It is not drawn to scale.

f15\

One line has been drawn for you.
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